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#include <stdint.h> UARTO_REG (UART_REG_DIV) = 138;
#include "platform.h" UARTO_REG (UART_REG_TXCTRL) = UART_TXEN;
UARTO_REG (UART_REG_RXCTRL) = UART_RXEN;
void _putc(char c¢) { volatile int i=0;
while ((int32_t) UARTO_REG(UART_REG_TXFIF0) < 0); while(i < 10000){i++;}
UARTO_REG (UART_REG_TXFIF0) = c; _puts("SiFive START\r\n");
}
GPIO_REG(GPIO_INPUT_EN) |= 0x3e00;
int _getc(char * c){ GPIO_REG(GPIO_PULLUP_EN) &= ~0x3e00;
int32_t val = (int32_t) UARTO_REG(UART_REG_RXFIFO); GPIO_REG(GPIO_OUTPUT_EN) = 0x3f;
if (val > 0) { GPIO_REG(GPIO_INPUT_EN) &= ~((0x1 << RED_LED_OFFSET)
*c = val & OxFF; |  (0x1 << GREEN_LED_OFFSET)
return 1; | (0x1 << BLUE_LED_OFFSET));
¥ GPIO_REG(GPIO_OUTPUT_EN) |= ((0x1 << RED_LED_OFFSET)
return 0; | (0x1 << GREEN_LED_OFFSET)
} | (0x1 << BLUE_LED_OFFSET));
int relay = O;
void _puts(const char * s) { int last = 0;
while (ks != ’\0’){ int led = 0;
_putc (ks++) ; volatile uint64_t * now
¥ = (volatile uint64_t*) (CLINT_CTRL_ADDR + CLINT_MTIME);
} volatile uint64_t then = *now + 1000;
while(1){
void _hex1(int32_t v) { // wait 10mS
char * hex = "0123456789ABCDEF"; while (*now < then) { }
_putc(x(hex + (v & 0xf))); then += 1000;
} // input from Relay
relay = ("GPIO_REG(GPIO_INPUT_VAL) >> 9) & Ox1f;
void _hex2(int32_t v) { // binary to BCD
_hex1(v >> 4); relay = int(relay / 10) * 0x10 + (relay % 10);
_hex1(v); // output to LED
} GPIO_REG(GPIO_OUTPUT_VAL) = relay | 0x6b0000;
// RGB-LED blink
void _hex4(int32_t v) { if (led & 0x10) {
_hex2(v >> 8); GPIO_REG(GPIO_OUTPUT_VAL) &= ~(0x1 << BLUE_LED_OFFSET);
_hex2(v); ¥
} if (led & 0x20) {
GPIO_REG(GPIO_OUTPUT_VAL) &= ~(0x1 << RED_LED_OFFSET);
void _hex8(int32_t v) { i
_hex4(v >> 16); if(led & 0x40) {
_hex4(v); GPIO_REG(GPIO_OUTPUT_VAL) &= ~(0x1 << GREEN_LED_OFFSET);
} }
led = (led + 1) & Ox7f;
int main (void) // console log
{ if (last != relay) {
PRCI_REG(PRCI_HFROSCCFG) |= ROSC_EN(1); _hex8(GPIO_REG(GPIO_INPUT_VAL));
PRCI_REG(PRCI_PLLCFG) = (PLL_REFSEL(1) | PLL_BYPASS(1)); _puts(" ");
PRCI_REG(PRCI_PLLCFG) |= (PLL_SEL(1)); _hex8(GPIO_REG(GPIO_OUTPUT_VAL));
PRCI_REG(PRCI_HFROSCCFG) &= ~(ROSC_EN(1)); _puts("\r\n");
GPIO_REG(GPIO_OUTPUT_VAL) |= IOFO_UARTO_MASK; last = relay;
GPIO_REG(GPIO_OUTPUT_EN) |= IOFO_UARTO_MASK; }
GPIO_REG(GPIO_IOF_SEL) &= “IOFO_UARTO_MASK; } // while(1)
GPIO_REG(GPIO_IOF_EN) |= IOFO_UARTO_MASK; ¥
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